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SECTION - B
g - W
Il. Answer any Two of the following. (2%5=10)
& NS s SUBE ¢U30R0.
2. What is the need of ERP ? Explain.
ERP o eng S ? DI0XD.
3. Briefly describe the risks of ERP.
ERP ob sapobnva) Hoggaon d=030.
4. Write a note on Business Process Management.
= So0 3,800 FFEE LoD L LD
5.  Explain briefly the emerging trends in ERP .system's.
ERP 533700, BRo@amn3tos B3nes Ro3Tman DTOXO.
SECTION - C
o - ®
(2x10=20)

[IL Answer any Two of the following.

= NS s SO wu30RD.

6. Describe the functional module of ERP software.
ERP g Se0's 8, cin3s SRER,TW) DT02D.

7.  Explain the different phases of ERP implementation.
ERP esomsn 225 TN, DIJ0RD.

8. Explain the benefits of ERP.
ERP o & cleexanvs) DTOR0.
R poEigo ackt : -
zjf:m:dé}:u zm,g:;if‘w::o.%%m e R
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VI Semester B.Com. (CBCS) Degree Examination September/October - 2023
Strategic Cost and Performance Management
(Regular)

Time : 3 Hours Maximum Marks : 80

Instructions to Candidates:
1) Attempt all questions according to their internal choice.
DO, NPANY TZNON S0308 BodR9n SROMOEmN YUZ00.
2)  Section-D question no.12 is compulsory.
BB T0. 12 FEODTNG.

SECTION - A

QRN - &
.  Answer any Ten of the following. (10x2=20)

EENIZNYY, Yess 5:_5.1% eVZ0A0.
1. a  What is strategic cost management ?
F00FB03,8 [y, ITFBE 0T ?
b.  What is cost control ?
=g, oo, 0T ?
c. What is target costing ?
rod &Y, OTITER ?
d.  Give the meaning of life cycle costing.
v 8,0 S, ACC OGF 39X
¢.  What do you mean by just in time approach ?
=ae oy tg,:m’ D 008D ?
{ Give the meaning of environment management accounting,
O30 LSFEe ;iagp s 3920,
g, What is business excellence model ?
oo, 70 g eFon TRUL 20Ut ?
|P.T.O.

(¥ Scanned with OKEN Scanner



LRI T @)

to

ML

44966/F0310

h.  What is benchmarking ?
INTTOB 0BT ?

i, Give the meaning of skimming pricing.
£33 Q@R QB0 eHF 39A.

j. What do you mean by responsibility consting ?

BREMmOE B, Q0BT ?
k. What is CVP analysis ?
20 HYeTB DOTTER) ?
| What is outsourcing decision ?

BROMOSR AGFT Q0BT ?

SECTION - B

ogpn - W
Answer any Three of the following. (3x5=15)
BINSINYY, Jemor daradig eV30AD.
Whakl are the limitations of traditional cost management ?
TR0, TaC8 533, ZFBHOD 0ENRD 3Rz ?
Dichrcnti\dIe between traditional cost management and strategic cost mandgcmcnl.
03, D08 B, =@ e PeHF38T JY, DBFBEOD B,F),ANTIY, SPA0.
What are the methods of pricin
RS eu3FnY 563 pFORT QI ARz ?
Write a brief note on supply chain management.
:;':ojﬁ 570 TFIE W OO WITEI 2080200
Briefly explain make or buy decision.
b BE= g AFTIR, ::og;;;san QD=OA.
SECTION - C

R - ®

g for new products.

e
=05

(2x15=30)

-

ny Two of the following.

Yemor SORE GuIOR0.
and advantages of targel costing.

Answer o
gon=SINdo,
[:xplain the features
ro SUp B orid FTorte CUIrYE), DWORD.
under different market situation.

[Explain pricing
¢ g LEF0HNEODRY, DTOAD.

EATA A o :SJ:OJ&’L%}W
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9.  Explain the process and prerequisites of benchmarking.
SnIcerEs I,8,0% T I ©NZ,Nva JTON.

10. Explain the features and prerequisites of JIT system.
d.o.u. SN0 SLigles Torin eIF LN NI DIOA0.

Explain Go!drau s method for improving pcrl'ormancc

mwrsmm 0 Reu T o JEAAD DY) 2JOA0.
SEC’I’ ION - B

ot - @
(1x15=15)

1. Case Study Compulsory.
ey c.o T,E0R uc: o,

M.mufduunnﬂ Company while produc
) Rs.& per unit. Producing the seat a
l.zlx)urr.zbl rS.2 and overhead Rs.2 2 per unit. I

following questions.
a) Whether compan
by If supplier reduces selling price 0

company do ?
Due to labour strike if cost of labour is increased to

cles can purchase scals from a supplicr
moderial cost Rs.3,

the company for

ing bicy
t its own factory includes

n this situation suggest

or to buy from the supplier.

y should make the seats
om Rs.8 to Rs.6 what should the

f seat fr

Rs.4 then what should the

c)

company do.
2 gt ZIROR gozncdy & ""“dé oraw At 20818 On. 8§ do3 20¢ cOXTOTING. 3
,-;_),3 masr e, rovdrios Xnle) ’*"z dun03d. 1R, TN dn. 3 Brd 34, dR. z.dc;‘
g i R 2 & eritir oo, Sotno% BT DO AT, sovonnded BN
mgren oItk ned Pedd
a) EOTV odan ML) 0 eeplad 308 B L0t enxided 2
b) pGECE g SRS o de. 8 oo 6 8 w200 gomRedd O Snddedd?
c) gt m=nsEcOC r ERO0CcY OR 4 G woa?'*":xd gozinodn D Sngded ?
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VI Semester B.Com. (CBCS) Degree Examination, October - 2023

COSTING METHODS
(Regular/Repeater)

Time : 3 Hours ' Maximum Marks : 80

Instructions to Candidates:

1)  Attempt all Sections according to internal choice.
2)  Use of simple programmable calculator is allowed.
3)  Section-D 'Case Study' is compulsory.

SECTION - A
NN - O
Answer any Ten of the following questions. (10%x2=20)
EINSPYNVY, eeds B JZRer ev3o20.
I. a) What do you mean by Job costing ?

wB 1SR Fi, Arorod TGS Q0TTeDd 2
b)  What is process costing ?

TOT e, drorad T3S onTed 2
¢)  What do you mean by Batch costing ?

W (Moo dz.z NEFOD a:‘c:j;a Q0TTeR 92
d)  What is retention money ?

UPABRCBTT Ty 0T3ERD 2
e) Name any two undertakings where service costing applies.

Reso S, drarod 03 EICDTMT 2T YOINTE) T2,
f)  State any two advantages of activity based costing.

LTI 03 :zs"d Qearad ::’:ééo:b IRJYmTdR AT smmum@‘ 3P20.
g) Give the meaning of 'Escalation clause'.

‘D08 =o' aws csr:ﬁg\ 2e80.
h)  Give two examples for abnormal loss.

CTRERT, SEE Q0 WHHTOR A0,
1) Write any two objectives of transport costihg.

-l - i \
mon _J,;. RFCLD CCRYOIR 208 wdesnvh W30,
s (%] -

[PT.0.
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VI Semester B.Com. (CBCS) Degree Examination, October - 2023

COSTING METHODS
(Regular/Repeater) '

Maximum Marks : 80

Time : 3 Hours

Instructions to Candidates:

Answer any Ten of the following questions.

1)  Attempt all Sections according to internal choice.
2)  Use of simple programmable calculator is allowed.

3)  Section-D 'Case Study'is compulsory.
SECTION - A

dgn - O
(10%x2=20)

TP, Bt BR) BINen evSO0.

1. a)

b)

c)

d)

f)

g

h)

What do you mean by Job costing ?

we 3R &Y, dearodd ST D0TTEID 7
What is process costing ?

@03 g, Jearod CelaY Q0BT ?

What do you mean by Batch costing ?
23,25 (roD)) .dz:jd QeAF oD ac%a Q0BT ?
What is retention money ?

GUPLERORTIT TED DOTTE ?
Name any two undertakings where service costing applies. |

ez 1, QeaF 0 a-dc(ﬁaé eﬁsaoimarbs Bjo]<S) wqﬁ;bﬁ#;ig{ BRORD.

State any two advantages of activity based costing.

24808 503 B, EIF oD ﬁ%éoﬁo CINFTEAR AT LIBRONTSY, 39RD.
Give the meaning of 'Escalation clause'.

‘0bE 02 awio eGSR, VeR0.

Give two examples for abnormal loss.

esmpERs, SHEp Q0T QVIHORE R0,

Write any two objectives ol transport costing,.

01t 553, AroF ohs INRYTOTTR TR VT EBNYRY WBoWD. FT0
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j)  What do you mean by activity based costing ?
BT SHR08 [, DedF oD T3S DOTTERD ?
k) How do you compute the value of work certified ?
0% BIRE0RT FPO,[RY DY Berl T THDI0 ?
1)  What are the types of process loss ?
T,8,030 THB PNBD) ?
SECTION - B
QR - W
Answer any Three of the following.

Pegon owedd JINRen ewSdA0.

2. Distinguish between job costing and batch costing. _
2B TO3R &, Qearodd TN 10T e, DeaF oD a'waacm Qsaaé:dzwgigt 2TOD.

3. Ajay transport company operates 5 buses between Nipani and Belagavi. The distance
between Nipani and Belagavi is about 70 kms. The capacity of each bus is 50
passangers. But on an average the bus runs 80% of the capacity. All the buses run on
all days of the month September. Each bus makes two trips each day. Calculate total

passenger kilometers. -
eszzdd TOON FOTACHR A WY WD BT 5 WRNTSY BARRNT. JTEI

TR IOmANg IEF KomR3d 70 3.0. 5&"% ©9030DT. &, 3 u:bN 50 03506330
TG, F BroOTIT. BT WD, lepaiolichy) MR FT 80% oI, WEBT. Y
WA AHOWT* 30nes SR, OINTS LEZS. B3 WA, T3 OF TR W) &,0dREd
SREIT. WD, ,03763800 T, 8REIAT TRTSBRY, 8.90.NM9Y, F0E &BAWD.

From the following information calculate the amount of profit to be transferred to

(3%5=15)

4.
profit and loss A/c
Notional profit Rs.3,00,000
Value of work certified Rs.14,00,000
Rs.20,00,000

Contract price
Contractee pays 80% of work certified

2 F9NS Snbdch ©m0E B0t ooy D IF AR THFCNINTOET IS

aim:;fd;ﬂa wo Hos0.

&%?Jif o) dn.3,00,000
o3, SRBOAOL, domt SPY, dn.14,00,000
gn.20,00,000

roen g
Snddy TReitoRon, SuRd 3¢.80% O, BRI, Ing, WIS,
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In a
process industry input introduced was 10,000 units, normal loss is. 5% and scrap

s 100
ﬁﬂl:10/0 of input and actual output is 9000 units. Calculate abnormal loss or abnormal

ot Fyod evmFEd, 10,000 PrERdR) LENFoRN. mERg 3, 5% HE0
(scrap) 10% =z —mbﬁ 3T 9000 wdﬁféo AT T, T oaij g Ta30.

Explain the steps in the implementation of ABC.

ABC OC'DK'QL tﬁé‘a’.)aaoa)’fua@h’oo SEAN e BOINIRY, DWOAD,

SECTION - C
AR - T
Answer any Two of the following. (2x15=30)

SRS Transport Company operates 4 buses between Chikodi and Hubli. The details for
the month of August-2023 is as follows:

Distance between two cities 200 kms

Capacity of each bus 40 seats

Each bus covers 1 trip daily

Occupancy for onward trip 80%

Cost of each bus Rs.l2,00,000

Depreciation at 15% p.a.

Salary of 4 drivers Rs.6000 per month each.
Salary of 4 conductors Rs.3000 per month each.

Occupancy for return trip 75% .

Repairs 75% of the depreciation of each bus tyre and tubes Rs.20 per 100 kms.
Diesel Rs.30 per 20 kms. '

Commission 25% of the total cost

Road tax Rs.7500 p.m. cach bus.

[nsurance Rs.2500 p.m. each bus.

Prepare cosl sheet and find out cost per passanger kms.

[P.T.O.
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T ST, TR0 B0 0l wERBINT Towgn 4 WINYRY, LBWIT. ©nx;, -2023

0 DTONW 53 PN,

SO IroAY FE,E €0 200 8.20.7%.

B3 WAT ALne mEE,E 40

D308 B3 WD womd T FOBORIE.

TREMITING RIROT, € 80%

Z,3 AR B3 12,00,000

380 o0 3,8 WAR 3e.15% pa.

ey WS BeSS B2odeyor 8e.6000 B3 Soror
o) ATFEY BeF Bodnnort Ue3000 Ba Jorer
STON LBdwN mmcﬁf 75%

ooy TS WAF ASEeD Be. 75%

o -

o %) wawd ASFEE 0e. 20 B3 100 820790

a5 33 830 3,8 20 3..0.090
g L) -

BT L) BB de. 25%

o5 201 de, 7500 F8 wAR T3 gonen

0% & LA de. 2500 B3 Sorert

m0rt HoR0s> s, TCHR) ToI0%. T oINS 8.2, S, ForkeBD.

) u
8.  Veerendra Builders Ltd have taken a contract in 2021. The value of the contract is

Rs.1250000. The began to work on 1* January 2021. The following are the details
for the year ending 31-12-2021

L

Rs.
Materials purchased 5,00,000
Wages paid 1,40,000
Direct expenses paid 25,000
Sub contract cost 12,500
Plant purchased 4,00,000
Materials returned to stores 50,000
Materials lost by fire and sold (costing Rs.25000) 20,000
Plant sold on 1/7/2021 (costing Rs.50000) 55,000
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Materials at sight on 31/12/2021
Work certified

Cost of work uncertified
Rate of depreciation
Retention money

Wages accrued

Prepare contract Account.

44963/F0230

75,000
10,00,000
1,00,000
10% p.a.
10%
10,000

DOCOT, BWE DZRFEd Rozos0 2021 89 8e. 1250000 & E=0rmboR), §ReoRE.
TSm0, 2021, =330 1 Comd T, 00pATRE. 3 3INS OJTRW Inrs Eedn 31

- @Xowgt 2021 8 ZowoQass,

TWVNY DO

gRd

60 S,

T LTes

coodR, eTEoeny D00

ToTX wel oD

tiosoos Teved IRONY Jwroewd (WS 8r.25000)
cdoed, =woew 1/7/2021 (39 ©r.50000)
DETIEOWT LoD IoBonsL 31/12/2021
Lzbrow, EURT =,

penleriS]elat [ {9)sta] aiz.;_’

Haggech od T3 I

UvLBRot T

zous® ez

roén mioﬁ;ﬁi ZoiR04,

on.
5,00,000
1,40,000
25,000
12,500
4,00,000
50,000
20,000
55,000
75,000
10,00,000
1,00,000
10% p.a.
10%
10,000

[P.T.O.
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10.

From the i i i

" ‘;tl:]» fn]lnxxnng paf‘tlculars of three jobs of a manufacturing company, a scertain
b cost of. cach job and selling price of each job. Assuming that profit mark
up 25% on selling price.

Particulars Job-A Job-B Job-C
_ (Rs.) (Rs.) (Rs.)
) 1vdlcrmls 1600 © 2000 2400
\\’fxgcs 800 1000 1200
Direct expenses 160 200 240

Work overhead is 50% of prime cost & office overhead is 20% on works cost.
Loy GuTTE BOTAGD SRt BRTLYNY HICMYE) S I NBRNT. BS BB
rosricd i SN Tore Rnoew SR, &8 0. SnRoous Bgod Hoed Be. 25
oo oo BHIRRYIYTOT SQO3NHTV. '

OTTRD Job-A Job-B Job-C
(o) (Tn.) (T.)
=<on 1600 2000 2400

220N 800 1000 1200
Ser :i:.ir?-b 160 200 240
foxs SuUR S50 :3%:5 3e. 50 d%dagd 3¢3e0 SuP) FORT JUT Be. 20 d%daajd.

Gunrise Pens Ltd manufacturers two products. Gel Pen and Ball Pen. It furnishes the
following data for the year 2022:

Product Annual output  Total Machine Total number Total number
(Units) Hours of purchase  of setups
_ orders
Gel Pen 5500 24000 - 240 30
Ball Pen 24000 54000 448 56
The annual overheads are as under:

Volume related activity COSIS Rs.475000

Set up related costs Rs.570000

Purchase related costs Rs.504000

Calculate the overhead cost per unit of each product - Gel Pen and Ball Pen on the

basis of:

i) Traditional method of charging overheads
i) Activity based costing methods and

iii) Find out the difference in cost per unit between both methods.
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C
t.
) “
£
&
&
£t
G
§

o v’ J
? levst ST D W JF Q0w 0D YLSFVEY UDBZC.
2022 {‘dd? "‘!JJ:J 3\3::“’;;\3 égf\ Ldm:};ﬁ:ﬂ.

b |

SEEEN AT 03P L) aho3,T L), DO LY, BWOT Y
(R RYY) poundd  wdesnd o, %o,
we I 5500 24000 240 30

Wt IS 24000 54000 448 56
ToAFE asuqs) 81 EINT0SLIT. ‘

TOTRrD JoWoDT LT aizg_, dr. 475000

BT Zowod3 :3:'{j dr. 570000

20t Jowod3 E.SzgJ dn. 504000

B3 GUSFNS (me* I D) W IaY) J3 IR (PLB)S LITFE SyFR VNS
s%anv 08 e ciio To30.

[) IEDlebsfanlovh a."::és
i) LTI eds :’:{ QFCD zda
iii) 20D :%enscd LS I3 PUIT :37.3:5 313::':533 30D LAWD.

SECTION - D
aRn - @
Case Study Compulsory Question (l><15=15)

=,E0R ©5clT @ I3,

11. A product passes lhrou_h three processes namely M, N and O. The details of each  *
process as follows:

Particulars M N 0

(Rs.) (Rs.) - (Rs)
Input 300 units 4000 . N
Sundry Matenial 5200 4000 2050
Direct labour 4500 7360 2800

Production overhead
(100% on Direct wages)

- sw

Actual output (units) 450 340 270
Normal loss (% on input) 10% 20% 25%
Scrap value unit 4 8 10

Prepare process A/c, abnormal loss and abnormal gain account,
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QTONLD M N 0
(Rs.) (Rs.) - (Rs.)
mozged DT cdwoa'ndd 500 4000 - ="
2IC TOBRD ' 5200 4000 2050
g8 2RO 4500 7360 2800
weEs e, (30 2rdod 3¢.100% o) - -- e
T,Z 8 wwETs (LR NYY) 450 340 270
wRRT, 7, (% Heatod Ded) 10%  20%  25%
rowd 88 (Ze o) | 4 8 10
XoxTro Jyg,odn WRSNYE) SCR0AD @0 SH[RTY,; TV ORTNT, COPE WABNIR,
ZciR0AD. ‘ '
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(CBCS) Degree Examination, October - 2023

COSTING METHODS
(Regular/cheater)

Maximum Marks : 80

Time : 3 Hours

Instructions to Candidates:

Answer any Ten of the following questions.

1) Attemptall Sections according to internal choice.
2) Useofsimple programmable calculator is allowed.
3) Section-D 'Case Study' is compulsory.

SECTION - A

dgpn - ©
(10%2=20)

nERNYY, Benn B BINOR V00,

1. a)

b)

c)

d)

g

h)

What do you mean by Job costing ?

we 3R B3, Dearod ok Q0BT ?

What is process costing ? -

B0 23, Deor oD Cilak) DOTTEID ?

What do you mean by Batch costing ?

DR (room) =, Qe aqpe DOTTERd 2

What is retention money ?

eVULRBROBTOT BED 0TI ?

Name any two undertakings where service costing applies.

Sezm i3, Drorad BHY SPEHTNOT SO LR BIOO.

State any two advantages of activity based costing.

BELTLT S5003 ﬁz:;s’d NEIFOD dcé%oﬁa OINZ)TTTR QTR OTRONTD, 3PAD.
Give the meaning of 'Escalation clause'. ' )
‘D03 HOR)' QBT LTPFII), VeRD.

Give two examples for abnormal loss.

CRRRT, SIUB SR TR ABO.

Write any two objectives of transport costing.

R0 i3, DeorobT cdRYmnde ST w&fgﬁﬁ#ﬁi WB0WD.
|P.T.O.

& Scanned with OKEN Scanner



